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The process by which the uterus returns to its pre pregnant size is called
A) Involution B) Tremulousness
O After Birth D) Post-Partum

The match between a child’s temperament and the environmental demands the child
must cope with is called

A) Trust Vs Mistrust B) Tempermenalia

@) Goodness of Fit D) Sustenance Curve

A misalignment of the eyes in which they do not point at the same object together is
called:
A) Nystagmus  B) Strabismus  C) Coloboma D) Glaucoma

Choose the correct statement

1. Articulation disorders are problems in spelling correctly.

2. Voice disorders are reflected in speech

3. Stuttering is not a fluency disorder

A) 1 only B) ,2&3 O 1&3only D) 2 only
Knowing about one’s own knowing is called

A) Concrete Operation B) Scaffolding

O] Emergent Literacy D) Metacognition

The founder of modern educational philosophy who fostered the idea of ‘tabula
rasa’:

A) Commennius B) Frobel

©) John Locke D) Rousseau

Which of the following is/are true?

1. TAT involves actual scenes

2. Apperception means a readiness to perceive in certain ways based on prior
individual experience

3. Abstract test is a widely used projection test of personality

4. Draw a man test was developed by Smart and Smart.

A) 1&2only B) 2&4o0nly O 2&3only D) 1 & 4 only

A child with learning disabilities is likely to have difficulties with
A) Organizing Time B) Prioritizing Activities
O Communicating Effectively D) Grasping Verbal & Nonverbal Concepts
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Children who are securely attached to caregiver react in social situation
1. more sociable 2. better problem solving
3. more tolerant to frustration 4. more persistent and flexible

A) 1&2 only B) 1&4only C) 1,2,3&4 D) 1,2&3only

The two characteristics in which a behaviour can be termed as normal or problem are its

1. Frequency 2. Intensity
3. Distraction 4. Counter productiveness
A) 1&2 B) 1&4 0) 2 &3 D) 1&3

ICMR (2020) recommendation of Estimated Average Requirement of calcium
(mg/day) for Indian adult is:

A) 600 B) 800 ) 1000 D) 1200
The reason for addition of spice oils to food for the purpose of food preservation:
A) Decrease Enzymes B) Reduce heat resistance of spores

O] Increase acidity D) To add colour

The bacteria which grow best at refrigeration temperature:

A) Thermophilic B) Psychrophilic

O Mesophilic D) None of the above

BHA and BHT are examples of:

A) Fruit Ripening agents B) Antimicrobial agents

@] Antioxidants D) Antisprouting agents

Which of the following has the best chemical Score?
A) Cereals B) Milk O Pulses D) Egg

An adequate amount of tyrosine can reduce the increased requirement of phenyl
alanine in the diet. This effect is said to be:

A) Mutual supplementation B) Specific dynamic action
O Sparing effect D) Biodegradation

Which of the following is not a source of High medium chain SFAs?
A) Coconut B) Mustard

O Palm kernel D) Butter

------ is a hunger stimulating hormone.

A) Ghrelin B) Leptin

@] Cholecystokinin D) Insulin

Small for Gestation Age (SGA) refers to:

A) Birth weight less than 10th percentile for gestation age

B) Birth weight between 10th to 50 th percentile for gestation age
@] Birth weight above 90th percentile for gestation age

D) None of the above
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DIAAS refers to:

A) Digestible Indispensable Amino Acid Score
B) Digestibility Index and Amino Acid Score
O Dietary indicators of Amino Acid Score

D) None of the above

Xeriscaping 1s :

A) Indoor landscaping B) Landscaping in water scarcity area
@) Balcony landscaping D) Landscaping with potted plants
Acoustic material used for flooring.

A) Vinyl B) Granite C)  Cork D) Marble
Perimeter of an efficient work triangle:

A) 24’ B) 54° O) 128’ D) 12°
Best suited indoor plant

A) Begonia B) Bugainvillea C) Roses D) Aglaonema
1. Curved lines are emphasized in tier curtains

2. Strait lines are emphasized in tailored curtains

A) 1 is correct but 2 is wrong B) 1 is wrong, but 2 is correct

O] Both 1 and 2 are correct D) Both 1 and 2 are wrong

What is micro propagation?

A) Budding B) Layering

@] Tissue culture D) Grafting

Work triangle is absent in ------ kitchen.

A) U - shape kitchen B) L — shape kitchen
O One wall kitchen D) Two wall kitchen
While arranging furniture, ------- principle should be observed.
A) Harmony B) Proportion

O Rhythm D) All the above

A stylized design is:

A) Slightly deviate from natural design
B) Traditional design

O] Abstract design

D) Colorless design

Recessed lighting is:
A) Direct Lighting Method B) Out Door Lighting

@] Chandelier Lighting D) Installed directly inside a ceiling or wall
The method of spinning followed for the manufacture of nylon.

A) Mule spinning B) Wet spinning

O Dry spinning D) Melt spinning
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Match the following pricing policy

LIST I LIST I

a. Price fluctuate according to demand 1. Market oriented pricing
b. Very low prices to gain market share 2. Dynamic pricing

c. Pricing high with assured quality of products 3. Predatory pricing
d. Pricing based on similar products. 4.Premium pricing
A) a-2, b-3, c-4, d-1 B) a-1, b-2, c-3, d-4

) a-1, b-4, c-2, d-3 D) a-4, b-3, c-1, d-2

In the Tex system which among the following is kept constant?

A) Width B) Length

@] Weight D) None of the above

A dobby weave is characterised by:

1. Small geometric designs 2. Large floral designs

3. More than two harnesses 4. Uses punched card for weft insertion

A) 1,2 &4 only B) 1,2&3only C) 2&4 only D) 1 &2 only

An example of shuttle less loom:

A) Handloom B) Pit loom
@) Rapier loom D) None of the above
Bagh is the term commonly associated with this traditional embroidery:
A) Kutch B) Chikankari  C) Kasuthi D) Phulkari
Match the following
List I List 1T
a. Wool 1. No chemicals in finishing
b. Cotton 2. lay flat while drying
c. Pure Silk 3. Bleaching and starching for finishing
d. Polyester 4. Drip drying fabric
A) a-2, b-1, c-4, d-3 B) a-2, b-3, c-1, d-4
O] a-3, b-2, c-4, d-1 D) a-1, b-3, c-2,d-4

Which among the following presses the newly formed fabric in place in a loom?
A) Harness B) Reed @] Heddle D) Wrap beam

A fibre that lends itself to feting:
A) Wool B)  Linen O Nylon D) Silk

Which of the following is not an element of apparel design?
A) Form B) Texture O Transition D) Colour

Which of the following is not a training Institute?
A) ETC B) SIRD O) TLC D) NIRD
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------ is regarded as the father of community development.
A) G L Ray B) J P Leagens C) S K Dey D) F L Bryne

Which of the following is best describes development?
A) An increase in size B) A change in infrastructure

@) A positive change in quality D) A reduction in population

A situation in which more persons are reemployed on a job, than are optimally

required is:
A) Structural unemployment B) Disguised unemployment
@) Cyclical unemployment D) Seasonal unemployment

Verbal sounds that eventually become speech, including babbling, cooing and
consonant vowel sounds are ----- .

A) Holophrase B) Pre-verbal

O Telegraphic D) None of these

The beliefs and behaviours that a social group shares is known as:
A) Culture B) Religion

O Subculture D) Counter-culture

The gender sensitization campaign of Government of Kerala:

A) Unarvu B) Kanal @] Nirbhayam D) Jagratha
The message is ----% spoken word.

A) 6 B) 7 0) 38 D) 55
Nature of learners in Extension Education is

A) Homogenous B) Heterogenous

@] Cosmopolite D) localite

SGSY is a program for promotion of

A) Infrastructure Community
B) Wage employment
@] Community development

D) Self-employment

Person who influences Innovation Decisions informally in a social system is termed as:

A) Facilitator B) Opinion Leader
O] Change Agent D) Key Communicator

The technique of dividing a large group into much smaller ones, in which a topic is
discussed within a limited period of time ?

A) Buzz session B) In basket exercise

C)  Fish bowl exercise D)  Syndicate method

The group of Swarozgaris SHG in SGSY programme get the subsidy to the extent of
A) 50% B) 25% O 33% D) 10%
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Which of the following is not a mathematical average?
A) Weighted Arithmetic Mean B) Harmonic Mean

@] Median D) Geometric Mean

Which of the following is not an example of a socially stratified installation?
A) Education system B) Government

O] A commune system D) Health care

A specific characteristic of a population is called:
A) Statistic B) Statistics @) Parameter D) Sample

Statistic is a numerical quantity, which is calculated from:
A) Population  B) Sample O Data D) Observations

Which one of the following measurement does not divide a set of observations into
equal parts?

A) Quartiles B) Standard Deviations

O Percentiles D) Deciles

In a Statistical table, row captions are called ------ .
A) Box head B) Stub @] Body D) Title

Which of the following describe the middle part of a group of numbers?
A) The Measure of Variability

B) The Measure of Central Tendency

O The Measure of Association

D) The Measure of Shape

Which of the following represent qualitative data?

A) Height of a student

B) Liking or disliking of (500) persons of a product
O The income of a government servant in a city
D) Yield from a wheat plot

A micro enterprise is one in which the investment in plant and machinery does
not exceed Rs------ lakhs.
A) 25 B) 50 O) 99 D) 10

The MSME Development Act came into force in:
A) 2005 B) 2006 O) 2010 D) 2001

The greenhouse effect is the phenomenon by which

A) Biological Diversity Is Dominant in Agricultural Production.
B) The Globe’s Water Pollution Affects Plankton.

O The Earth's Atmosphere Traps Infrared Radiation.

D) Climatic Changes Occur Naturally in The Forest.
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A --—-- s an interrelated, coherent set of ideas that helps to explain and to make
predictions.
A) Hypothesis  B) Research C)  Experiment D) Theory

Match the following stages and developmental periods of Erikson’s stages

a. Generativity vs stagnation 1. Late adulthood

b. Identity vs identify confusion 2. Middle adulthood
c. Integrity vs despair 3. infancy

d. Autonomy vs shame and doubt 4 adolescence

A) a-2,b-4,c-1, d-3 B) a-3, b-4, c-1, d-2

O) a-4, b-1, c-2, d-3 D) a-4, b-2, c-1,d-3

When children adjust their knowledge to fit new information and experiences it is
called:

A) Assimilation B) operational schema

O Accommodation D) decentralization

The theory portrayed that a child’s development is inseparable from social and
cultural activities:.

A) Piaget’s theory B) Vygotsky’s theory

O] Erikson’s theory D) Freud’s theory

The concrete operational period of Piaget’s cognitive stage coincides with ..........
stage of Freud’s psychosexual stage
A) Phallic B) Genital O Oral D) Latency

Using an ethnic label in a superficial way to portray an ethnic group as being more
homogenous is called:

A) Ethnic gloss B) Ethnic clique
C)  Ethnic glide D) Ethnic quilt
Gene imprinting occur when ------ .

A) there is inheritance of an altered gene

B) one pair of genes always exerts its effects

O] genes have differing effects depending on whether they are inherited
from father of mother

D) the transmission is more complex

Match the following:

LIST I LISTII

a. Blastocyst 1. Outer layer of cells providing nutrition and support to embryo
b. Ectoderm 2. Cells developing into digestive and respiratory systems

c. Endoderm 3. Cells that later develop into embryo

d. Trophoblast 4. Cells that form the nervous system

A) a-3, b-4, c-2, d-1 B) a-3, b-4, c-1, d-2
C) a4,b1,c2,d3 D)  a-2,b4,c-1,d3
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Synthetic hormones used to stimulate contractions are called

A) Analgesics B) Anesthetics

@] Oxytocic D) Progesterone’s

Pick out the correct statements:

1. Low birth weight babies weigh less than 5 72 pounds at birth

2. Preterm babies are those born three weeks or more before the pregnancy has
reached its full term

3. Small for date infants are those whose birth weight is below normal when the
length of pregnancy is considered but may be full term or preterm

4. Inadequate nutrition and smoking by pregnant women are the key factors in

producing small for date infants

A) 1,2,3 and 4 B) 1 and 4 only

O 1, 2 and 3 only D) 2 and 4 only
Anthocyanin’s are stable at:

A) Basic pH B) Acidic pH

O Neutral D) Independent of pH

Insulin deficiency is associated with:
A) Reduced lipolysis

B) Increased ketogenesis

O] Reduced gluconeogenesis

D) Reduced proteolysis

Toxic metabolite of Aspergillus spp. which attacks high protein agricultural produce
like; groundnuts and other nuts or products?
A) Penicillin B) Cyclosporine C) Aflatoxin D) Arsenic

Vitamin which is called Phylloquinone:
A) Vitamin A  B) Vitamin K C) Vitamin C D) Vitamin D

Which of the following confirmed values meet the diagnostic threshold for diabetes?
A) Fasting blood glucose > 140 mg/dl

B) Random glucose > 160 mg/dl

@] 2-hour post prandial glucose > to 126 mg/dl

D) Fasting blood glucose > 126 mg/dl

What is meant by SNF in milk?
A) Fat part of milk B) Water in milk
O Protein in milk D) Part of milk without water and Fat

What is the primary purpose of blanching food?
A) Clean the food

B) Prevent pest infestation

O Inactivate enzymes in food

D) Prevent food from drying
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Curing is commonly used for the preservation of:

A) Vegetables B) Meat and Fish

O Cereals and Pulses D) Fruit

Time-Temperature combination for HTST treatment of milk is

A) 72°C for 15 seconds B) 82°C for 15 seconds

O 63°C for 15 min D) 135°C for 1 second

The Anti-nutritional factor in cotton seed;

A) Tannin B) Trypsin inhibitor

O] Gossypol D) Saponins

The final step in the process of management is:

A) Coordinating B) Planning

O Evaluation D) Organizing

Which among the following is not a characteristic of resource?

A) Useful B) Limited O Inter related D) Boundless
In pathway chart analysis, ------- are used for recording the movement of a person
A) Symbols B) Therblings

O Pins and String D) Photographs

Janatha refrigerators are:

A) Composting device B) Electrical equipment

@] Hatching device D) Indigenous equipment

Eco Mark is given to products with------- .
A) Lowest cost B) Least impact on the ecosystem
O Highest quality D) Maximum durability

Highest level of Ikebana is referred as:
A) Soe B) Jushi O Shin D) Hikae

Vertical line creates an impression of :
A) Flexibility B) Contrast O Dignity D) Relaxation

Salient feature of Gothic architecture
A) Dome — shaped roofs

B) River frontage

O Large stained glass windows
D) Large pillars

Informal balance is created by keeping------ .

A) a large object in centre

B) heavier object nearer to the centre
@] heavier object away from the centre
D) extra space in between
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Bio medical waste should be disposed by:

A) Composting B) Incinerating

@] Recycling D) Land filling

The finish is done for cotton fabrics

A) Mercerization B) Weighting

©) Degumming D) All of the above
Match the List I with List II

List I List IT

a. Feathery ash 1. Silk

b. Hard Bead 2.Wool

c. Gummy Surface 3. Cotton

d. Scaly Surface 4. Nylon

A) a-1,b-3,c-2,d-4 B) a-4, b- 2, c-3,d-1
@] a-3,b-4,c-1,d-2 D) a-2,b-3,c-1,d-4

Assertion (A): Nylon is not used for summer wear
Reason (R) : Nylon is high in thermal conductivity.

A) A is correct, but R is wrong B) A is wrong but R is correct
O] Both A and R are correct D) Both A and R are wrong

The application of white collar on dark coloured dress is an example of

A) Emphasis B) Transition O Rhythm D)
Match the fibre given in List I to its properties in List 11

List I List 1T

a. Polyester 1. High Insulation

b. Cotton 2. High lustre

c. Rayon 3. Wicking property

d. Wool 4. High thermal Conductivity
A) a-4, b-2, c-3, d-1 B) a-3, b-4, c-2, d-1
O a-1, b-2, c-3, d-4 D) a-2, b-3, c-4, d-1
Example for aesthetic finish

A) Embossing B) Weighting

O] Tentering D) Sanforization

An apple shaped figure looks better in:

1. A belt at the waist. 2. Dark deep Shades.
3. Emphasis at the hemline. 4. Gathers at the waist.
A) 1, 2 and3 are correct B) 1, 2 and 4 are correct
O 2 and 3 are correct D) 2 and 4 are correct

10
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Arrange in the order of weaving a fabric:

A) Picking, Battening, Shedding & Taking up
B) Shedding, Picking, Battering & Taking up
O Picking, Battening, Taking up & Shedding
D) Shedding, Battening, Picking & Taking up

Match the type of work with the traditional textile.

List I List IT

a. Jali work on white 1. Ikat

b. Yarn dyeing 2. Kanthas

c. Fabric tie & dye 3. Chikankari

d. Colourful running stiches 4. Bandhini

A) a-1, b-2, c-3, d-4 B) a-4, b-1, c-3, d-2
@) a-2, b-3, c-1, d-4 D) a-3, b-1, c-4, d-2
Match the following

List I List IT

a. Phulkari 1. Karnataka

b. Kasuthi 2. Punjab

c. Patola 3. Uttar Pradesh

d. Chikankari 4. Gujarat

A) a-1, b-2, c-3, d-4 B) a-3, b-2, c-4, d-1
O) a-2, b-1, c-4, d-3 D) a-4,b-1,c-3,d-2
The principle of extension education is:

A) Principles of grass root level organisation.

B) Cooperation and people’s participation.

O Indigenous knowledge.
D) All of the above.

Adopters category is based on-----.
A) Education B) Awareness

O Innovativeness D) Innovation

BHOOMI project is an ICT initiative of:

A) Kerala B) Karnataka @] Gujarat D) Bihar
Informal education is often termed as:

A) Incidental education B) Lifelong education

O Continuing education D) Non Formal education

The Panchayat Raj System was officially implemented in India on 2™ October.

A) 1952 B) 1959 O) 1954 D) 1958
The first state to introduce Panchayat Raj System in India:

A) Kerala B) Andhra Pradesh

O Rajasthan D) Tamil Nadu
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Match the method of research tools from List-I to List-II :

List-1 List-1I
a. A document that contains a set of questions. 1. Interview
b. A set of structured questions in which answers 2. Observation
are recorded by the researcher
c. A planned methodical watching the subject 3. Questionnaire
or situation
d. An indirect technique of questioning about 4. Projective

a task or situation

A) a-3, b-1, c-2, d-4 B) a-2, b-3, c-4, d-1
O) a-4, b-1, c-2 d-3 D) a-1, b-4, c-2, d-3
Sustainable Developmental goals are targeted to be achieved by

A) 2030 B) 2050 ) 2020 D) 2040
Which one of the following is non-probability sampling technique?

A) Systematic Random Sampling B) Cluster Sampling
O Snowball Sampling D) Simple Random Sampling
Which of the following indicators is not used to calculate HDI?

A) Life expectancy B) Per capita income
@) Social inequality D) Education
Out-of-the-box' thinking is related to

A) Consistent Thinking B) Memory-based Thinking
O Divergent Thinking D) Convergent Thinking
Which of the following fabric has the lowest environmental footprint?
A) Cotton B) PET Polyester

O] Tencel D) Polyester

Representation of data by pictures is called ----- .

A) Bar diagram B) Pictogram

O Pie - diagram D) Histogram

The measures based on every item of the series:

A) Standard deviation B) Quartile deviation

O Range D) All of these

What are fundamental qualities in good written expression?
A) Precision and Clarity

B) Description

O Long, Academic-Sounding Words

D) Long Sentence

The number of accidents in a city during 2010 is:
A) Discrete variable B) Continuous variable
@] Qualitative variable D) Constant
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